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ID p1 [p2 p3 p4 p5 |spectrum swapPhaseI Comments
078 Ny lvilv v v v v
1990
MWy v v X X
7612
By v v |v |v
3061
0728 1\ Ny v v |V
4289
R v v v X
8011
LE2 v v v X |v
0104 Lots of syntax errors. Not a clean code.
2415
v v |V v v
1037 X X Syntax error: fftld and fft2D not implemented
320yl v v v v
8177
3825 vV—|v—-| X X X X X P1) P2) no calculation. Just formula given.
W vy v |v- v X ,
7530 Excel plots for P5 are not provided.
7972 v | v |V v v v v
8712 v | v |V v v X X
9437
v-|v-|V v
5108 X X X
5531 (v |v |V v |V v v
9435




